FTH2FE BEET—REZEVMRKELSE KERERRR

pH =
A |EARE S BAF . oH I
vk
47 75 6.7 73 ) N i
5 74 65 73 S T ~
6 B 77 6.4 7.3 6 s & = 3 =
1E 79 6.3 6.9 :
8H 78 6.4 71 )
98 79 6.3 71 )
108 7.9 6.3 7.0 )
115 8.0 73 74 1
12F 7.9 6.9 7.2 0 Y
15 8.0 1.4 1.3 4B 5A 6A 7R 8A 9A 10A 11A 12A 1A 28 3A
2F 7.9 75 76
38 77 71 75
oop g (mg/1) COoD —— iRk
Bk [EKEYN BLAIF 7 e
45 43 14 26 5 S SKEvh
5 5.1 14 35 A A
65 5.1 18 25 517 ‘\ VAR * \_*
7E 37 15 18 4 V v
8 A 56 19 27 s |
9F 46 16 39 , -
10 52 1.7 22 P S — ——
11 53 15 24 1 ‘\'/
128 50 1.7 25 0
18 6.4 21 58
32 o4 2] 25 48 58 68 78 8H 9B 108 11A 128 1A 28 38
3E 4.7 2.2 31
BOD (meg/1)
WK [EKE YN &BIFHF BOD
48  |05%km| 05%kms| 05%kim 2.5
58 |0.5%K# 06| 05 ) n
68 |05kE| 05FkE| 05%km /\ —— K
78 [05Ki#| 05FKi#E| 0.6 15 —m— £KEVH
8A [05% % 0.7 06k 5 / \ ol
98 0.5k i 0.6] 0.5% 1
108 |05k 0.5%k#E| 0.5k / \
118 [05%E| 05%E| 05KiE 05 7"
128 |05k 0.5%k#E| 0.5k \\ .g \ ...... / ‘ \
EES 21| 055 0 T
A TosE® T 48 58 68 7R sJEJ 98 108118128 1A 28 38
38  |05%i#| 05FK#| 0.5K#H
SS (mg/1) -
Bk [ERE VN BalR o SS —e— Rk
45 ESAEES 3 g +$?:t‘”
548 IEYIRES 2 7 iz
68 e ST R ST 1 6
78 ESIBRES. 2 5
8H IESIHRES: 2 4 A
EERES IBRES: 2 s / \
108 | 1k@| 1km| ke o S [\
1A | k@] 1%5 2 | [\
112J§ 1 555%5 :II 7<}g 1 *;ﬁz 0 _._u_._t_._t_._t_._t_._t_“_u_._t_.(_t_._t_\_t_,-‘_
NI
e R 1 48 58 68 7R 8B 98 108118 12A 1A 28 38
3B 1RE 1EXKE| 1EXE




PNl

Wik [ EKE VN &R 10000 KGE#HHK —o—ﬁﬂz;ﬁﬂf
B [@/cm3 MPN/100m| 9000 +$7J<t\yh
48 | 30Kk 2 6 8000 B
58 30K il 15 50 2000 . [
64 30K 6 500 6000 UK (18/cm3)
18 30K; 2 6500 5000 SEKE  (MPN/100m)
8H 57 13 500 2000 #3813 (MPN/100ml)
9F8 30K il 34 170 3000
10 B 30K 6 230 5000
118 45 16 900 1000
128 | 30k 55 240 o I L —
18 30K i 27 360 .
38 30K 18 120
B4z (mg/1) -
Rk [EKE N &BlH 1800 BRA4 :Tﬂmﬂff
£EKkEYE
48 1100 310 240 1600 " oo
5H 1600 310 470 1400 /S~ " b
6 A 1500 300 340 1200 / N/ i —
7H 950 230 60 1000 g‘u‘ﬁgvé
8H 1400 320 430 800
9K 970 350 410 500 Y
108 630 360 160 400 a A
118 1200 290 530 p00 | =y e o W
12 B 1300 300 600 0
;E Do Sy 48 58 68 78 88 98 108 118128 18 28 3
3H 1100 400 490
BRIGEE (mS/m) :
Rk [EKE YR &R BERIEEE -
45 410 150 110 600 +§7;i%
58 550 130 190 500 o Bil
64 560 140 150 / \ / \ /f \
78 370 120 42 400 V / "
8H 530 150 170 300
9H 370 150 180 ™4
10 B 270 160 85 200 |
11H 470 140 220 100 -y o ey g ="
128 490 140 240
18 500 150 230 0
2A 380 150] 160 48 58 6A 7R 8A 9A 10A11A12A 1A 28 3A
3H 410 170 200
EES (mg/1) .
BRIk |EKE YN EBIFHF 25 ESE
48 12 16 3.4
5H 11 18 1.8 20
64 10 17 1.9 ./-\_/-\_____/-/'\-\./. ~
7H 10 18 1.2 15 :Zﬁ? X
8H 11 17 2.1 KEY
98 8.2 17 2.1 T i SR a5
108 8.2 17 1.9
118 8.5 18 3.2 5 —
128 9.0 19 43 0
;E 2;, :3 23 48 58 68 78 8H 98 108118128 1A 28 38
3H 8.7 18 4.1




